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3-4 Learning Target: Students will be able to wrlte the equation of a line given a graph, the slope and y-
intercept, or 2 points. They will also be able to write the equation of a line if it is parallel or perpendicular to a
given line. Lastly, they will be able to graph aline in any form.

Point-Slope Form :

m is the slope of the lineand (x,, y, ) are

y-yi=mcx)— MEMORI ZE |

the coordinates of any point on the line.

Slope-intercept Form: y=mx+b— AMEMORIZ £ /

m is the slope of the

line and b is the y-intercept

b: the y-intercept is the point on the y-axis where the line crosses or intersects the y-axis, when x = 0.

1.

Write an equation in slope-intercept form of the line

with the given slope and y-intercept.

a. Slope -2 and y-intercept 4 b. You try: slope 5 and y-intercept 3
y=mx+b
y=-2X+4 Allyou have to do is pluginmand b. © ﬂ = 5% + 5
2. Write an equation in slope intercept form of the line with the given slope that contains the given point.

3

1

a. Slope —=through(8,1). y-y,=m(x-x,) b. You try: siope = — through (-6, 5)
4 3
= b
y—1:~i(x—8) -5= =3 (x't’(&))
: 5= &5 (X +0)
-1=—=Xx+6
y ? X+ 5 ?K + 2
3 )
= —=X+7
= L V)= x4+
3. Write an equation in slope-intercept form of the line having the given slope containing the given point.
.Y P m= d (2,
a. m:zand(3,1) y-y;=m(x-x,) R Ll 5ﬂan (23)
3 2 Y%= 5(x-2)
—1=-(x-3) —
: 5 eyX O
2 2
B e al
3 3 )4 6
2
y==x-1
4. Write an equation in slope-intercept form of the line going through the given points.
Find the slope first. Then use either point to plug into point slope form.
i : (-3,- d(- - 1) =
a. (-2,4)and(8,10) m= 1o-4 _6_3 B YoutryA(w m = ?.:_C__-) JQ—C‘Z-
8-(-2) 10 5 056 (’1) -1 -(~2)
_2 = 5(x-(=))
~4=2(x~(-2))
5
y-4=2(x+2)
5
y—4=3~X+é
5 5
y—§x+.6__+.2..9 ( = .2..9)
5 5 5
y —éx .2..§
5 5
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5.

1 .
Write an equation of the line described below that relates to the line y = —- x + 2. Then graph it.
5

a.

It is perpendicular to the line and contains (2, 0)
1

If it is perpendicular to y = — x + 2, then the slope is -5.
5

y-0=-5(x~2)
y=-5X+10

-10

b. Youtry: Itis parallel to the line and contains (1, 4)

1L liney hawe the same Slope

o m=
4= X~
: Y=5X"5
T s Xt

-16
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6. Use the graph to write an equation in slope intercept form for each line shown or described.

a B =3 b«‘*W
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o M= ’%.z—l b= WZ"ZX”Z
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. A O =-7| (horizontal ine) FHATRLE Ei4,-2)
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g. The Ime parallel to AB and contains (4,2)

L4

MR s om=%  Y-233(xH)

h. The line perpendtcular to CD and contains (0,3)

m% =7 .. m= .;Z.L 6:’—&Q§
3=ZTX

2=~ D
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